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Name: __________________________________



1
In the accompanying diagram, [image: image1.png]MABC



 is inscribed in circle O, [image: image2.png]AP



 bisects [image: image3.png]L BAC



, [image: image4.png]PED



 is tangent to circle O at B, and [image: image5.png]msACE msl CAR s ABC

4:3:2




[image: image6.png]



Find: [image: image7.png]m/ ABC



, [image: image8.png]mBF



, [image: image9.png]ms BEP



, [image: image10.png]


, [image: image11.png]m./ PBRC





2
In the accompanying diagram of circle O, diameters [image: image12.png]BD



 and [image: image13.png]AR



, secants [image: image14.png]PAR



 and [image: image15.png]POC



, and chords [image: image16.png]BC



 and [image: image17.png]AD



 are drawn; [image: image18.png]


; and [image: image19.png]


.

[image: image20.png]Q

N

e

4




Find:  [image: image21.png]


, [image: image22.png]ms BCD



, [image: image23.png]ms BOR



, [image: image24.png]


, [image: image25.png]ms PAD





3
In the accompanying diagram of circle O, diameter [image: image26.png]cA



 intersects chord [image: image27.png]BD



 at F;  [image: image28.png]AR



 is a tangent; [image: image29.png]EDC



 is a secant, [image: image30.png]OB



, [image: image31.png]BA



, and [image: image32.png]AD



 are chords; [image: image33.png]


; and [image: image34.png]mAD




.

[image: image35.png]



Find: [image: image36.png]mAE



, [image: image37.png]msARC



, [image: image38.png]ms BCA



, [image: image39.png]ms DA



, [image: image40.png]ms DAR



.

4
In the accompanying diagram of circle O with inscribed isosceles triangle ABC, [image: image41.png]


, [image: image42.png]mCE -




, [image: image43.png]7o,



 is a tangent, and secant [image: image44.png]FBA



 intersects diameter [image: image45.png]oD



 at E.

[image: image46.png]



Find: [image: image47.png]ms ADC



, [image: image48.png]mAD



, [image: image49.png]m/ DER



, [image: image50.png]msAFC



, [image: image51.png]m/ BCF





5
In the accompanying diagram, [image: image52.png]PA



 is tangent to circle O at point A, secant [image: image53.png]PBD



 intersects diameter [image: image54.png]AC



 at point E,  chord [image: image55.png]AB



 is drawn, [image: image56.png]


, and [image: image57.png]mCD DA




.

[image: image58.png]



Find: [image: image59.png]


, [image: image60.png]mAE



, [image: image61.png]m/ BREA



, [image: image62.png]ms BAC



, [image: image63.png]m. PBA



.

6
In the accompanying diagram, isosceles triangle ABC is inscribed in circle O, and vertex angle BAC measures 40º.  Tangent [image: image64.png]PO



, secant [image: image65.png]PBA



, and diameters [image: image66.png]BD



 and [image: image67.png]AR



 are drawn.

[image: image68.png]A

K
)




Find: [image: image69.png]mBC



, [image: image70.png]m/ABD



, [image: image71.png]ms DOR



, [image: image72.png]


, [image: image73.png]ms ACP



.

7
In the accompanying diagram, regular pentagon ABCDE is inscribed in circle O, chords [image: image74.png]B



 and [image: image75.png]DE



 intersect at F, chord [image: image76.png]DE



 is extended to G, and tangent [image: image77.png]GA



 is drawn.

[image: image78.png]



Find: [image: image79.png]ms BDR



, [image: image80.png]ms BRC



, [image: image81.png]msAGD





8
In the accompanying diagram of circle O, chord [image: image82.png]AB



 is parallel to diameter [image: image83.png]B



, secant [image: image84.png]PBD



 intersects [image: image85.png]B



 at F, tangent [image: image86.png]PA



 is drawn, [image: image87.png]mAB = mBC



, and [image: image88.png]mCD




.

[image: image89.png]G




Find: [image: image90.png]mAE



, [image: image91.png]m/ABD



, [image: image92.png]ms DFC



, [image: image93.png]


, [image: image94.png]m/ PAB



.

9
In the accompanying diagram of circle O, diameter [image: image95.png]EOC



 is extended through C to point P;  diameter [image: image96.png]AFOD



, tangent [image: image97.png]PD



, and chords [image: image98.png]AC



, [image: image99.png]oD



, [image: image100.png]BFE



 are drawn; [image: image101.png]ms OO0




; and [image: image102.png]msAFB = 100



.

[image: image103.png]=y




Find: [image: image104.png]


; [image: image105.png]


; [image: image106.png]msACE



, [image: image107.png]mAE



, [image: image108.png]msACD



.

10
In the accompanying diagram of circle O, [image: image109.png]mAB: mBC




; diameter [image: image110.png]cA



 and chord [image: image111.png]AR



 are drawn; chord [image: image112.png]B



 is parallel to chord [image: image113.png]AB



; chord [image: image114.png]BC



 is extended through C to D; and tangent [image: image115.png]DE



 is drawn.

[image: image116.png]N




Find: [image: image117.png]mBC



, [image: image118.png]mCE



, [image: image119.png]msARC



, [image: image120.png]ms CED



, [image: image121.png]ms BDR



.
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In the accompanying diagram of circle O, [image: image122.png]


, [image: image123.png]


, [image: image124.png]mAB: mBC-




, [image: image125.png]PD



 is a tangent, secant [image: image126.png]PCE



 intersects diameter [image: image127.png]AD



 at F, and secant [image: image128.png]PBA



 is drawn.

[image: image129.png]



  Find [image: image130.png]mED



, [image: image131.png]mAE



, [image: image132.png]ms BAD



, [image: image133.png]ms APE



, [image: image134.png]ms ERD
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In the accompanying diagram of circle O, diameter [image: image135.png]AR



 is extended through E to C; tangent [image: image136.png]OB



, chord [image: image137.png]AB



, and radius [image: image138.png]OF



 are drawn; and [image: image139.png]mAD mBE




.

[image: image140.png]A
D




a Find: [image: image141.png]mAE



, [image: image142.png]ms BAC



, [image: image143.png]


, [image: image144.png]m/ ABC



.

b Is [image: image145.png]MNOBC



 acute, right, obtuse or equiangular?  Explain your answer.

13
In the accompanying diagram of circle O, diameter [image: image146.png]AD



, chord [image: image147.png]AR



, and secants [image: image148.png]CBA



 and [image: image149.png]CDE



 are drawn; [image: image150.png]msBAD = 40



; and [image: image151.png]


.

[image: image152.png]



Find: [image: image153.png]mBD



, [image: image154.png]mAE



, [image: image155.png]msACE



, [image: image156.png]msARD



, [image: image157.png]ms ADC



.

14
In the accompanying diagram of circle O, [image: image158.png]AOED



 is a diameter, [image: image159.png]PD



 is a tangent, [image: image160.png]PBA



 is a secant, chords [image: image161.png]BD



 and [image: image162.png]BEC



 are drawn, [image: image163.png]ms AR = 43



, and [image: image164.png]msDEC =72



.

[image: image165.png]S




Find:  [image: image166.png]ms BDP



, [image: image167.png]


, [image: image168.png]


, [image: image169.png]


, [image: image170.png]ms CBD
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In the accompanying diagram of circle O, [image: image171.png]AORC



 is a diameter, [image: image172.png]PO



 is a tangent, [image: image173.png]PBA



 is a secant, [image: image174.png]BED



 is a chord, [image: image175.png]


, and [image: image176.png]mAB: mBC :mCD mDA -




.

[image: image177.png]



Find:  [image: image178.png]mBC



, [image: image179.png]


, [image: image180.png]m/ BRC



, AP to the nearest tenth

16
In the accompanying diagram of circle O, tangent [image: image181.png]PA



, secant [image: image182.png]PGFB



, diameter [image: image183.png]AOEB



, and chord [image: image184.png]CEFD



 are drawn; [image: image185.png]mCA




; [image: image186.png]


; and [image: image187.png]ms CFA = 40



.

[image: image188.png]



Find:  [image: image189.png]mCE



, [image: image190.png]mBD



, [image: image191.png]m/ APB



, [image: image192.png]m/ PAB



, [image: image193.png]m/ ABG
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In the accompanying diagram of circle O, tangent [image: image194.png]PA



, secant [image: image195.png]PBEC



, and chords [image: image196.png]AB



, [image: image197.png]AD



, and [image: image198.png]oD



 are drawn; [image: image199.png]


, [image: image200.png]


; [image: image201.png]MmAC mCD




.

[image: image202.png]



Find:  [image: image203.png]mCD



, [image: image204.png]m/ BAP



, [image: image205.png]ms DA



, [image: image206.png]m/ARB



, [image: image207.png]
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In the accompanying diagram of circle O, tangent [image: image208.png]AB



 and chord [image: image209.png]BC



 are drawn, secant [image: image210.png]ACD



 intersects diameter [image: image211.png]EB



 at F, [image: image212.png]


, and [image: image213.png]


.

[image: image214.png]by
s




Find: [image: image215.png]


, [image: image216.png]m/ ABR



, [image: image217.png]m/ ABC



, [image: image218.png]ms ERC



, [image: image219.png]ms ACE
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In the accompanying diagram of circle O, secant [image: image220.png]PRCQ



, secant [image: image221.png]PAOER



, tangent [image: image222.png]OB



, and chord [image: image223.png]CEG



 are drawn; [image: image224.png]mBC mCF - mFA




; and [image: image225.png]ms ARG = 95



.

[image: image226.png]A
4




Find: [image: image227.png]mCF



, [image: image228.png]


, [image: image229.png]


, [image: image230.png]ms FCG



, [image: image231.png]m/ FOB





20
In the accompanying diagram of circle O, secant [image: image232.png]ABP



, secant [image: image233.png]CDP



, and chord [image: image234.png]AC



 are drawn; chords [image: image235.png]AD



 and [image: image236.png]BD



 intersect at E, tangent [image: image237.png]GOF



 intersects circle O at C, and [image: image238.png]mAB: mBD mDC -mCA

2:5:3



.

[image: image239.png]|
&




Find: [image: image240.png]mCA



, [image: image241.png]ms ACE



, [image: image242.png]


, [image: image243.png]m/ARB



, [image: image244.png]ms DOF
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In the accompanying diagram of circle O, tangent [image: image245.png]PR



, secant [image: image246.png]AECP



, chord [image: image247.png]DEB



, and chord [image: image248.png]OB



 are drawn; [image: image249.png]


; [image: image250.png]ms DR = 85



; [image: image251.png]


; and [image: image252.png]


.

[image: image253.png]



Find: [image: image254.png]mAE



; [image: image255.png]ms ACE



; [image: image256.png]


 to the nearest degree.

22
In the accompanying diagram of circle O, chords [image: image257.png]BD



, [image: image258.png]BC



, and [image: image259.png]AC



, tangent [image: image260.png]PO



, and secant [image: image261.png]ABP



 are drawn; [image: image262.png]m/ DB =40



, [image: image263.png]msARB = 110



; and [image: image264.png]mAD mCE




.

[image: image265.png]T
o~




Find: [image: image266.png]mAE



, [image: image267.png]mAD



, [image: image268.png]


, [image: image269.png]m. BCP



, [image: image270.png]ms ACP





23
In the accompanying diagram of circle O, [image: image271.png]PA



 is tangent to the circle at A; [image: image272.png]POC



 is a secant; diameter [image: image273.png]AEOC



 intersects chord [image: image274.png]BD



 at E; chords [image: image275.png]AB



, [image: image276.png]BC



, and [image: image277.png]DA



 are drawn; [image: image278.png]


; and [image: image279.png]mBC



 is 32 more than [image: image280.png]mAE



.

[image: image281.png]





Find: [image: image282.png]mAE



; [image: image283.png]ms BAC



; [image: image284.png]


; [image: image285.png]ms DEC



; [image: image286.png]ms PDA






1
ANS:


40, 60, 70, 50, 60
REF:
010436siii

2
ANS:


140, 90, 40, 30, 90
REF:
080036siii

3
ANS:


80, 55, 40, 85, 35
REF:
019639siii

4
ANS:


75, 30, 135, 45, 30
REF:
069636siii

5
ANS:


160, 80, 50, 50, 100
REF:
089636siii

6
ANS:


80, 20, 140, 30, 110
REF:
069737siii

7
ANS:


72, 72, 36
REF:
089738siii

8
ANS:


60, 80, 100, 50, 30
REF:
019839siii

9
ANS:


120, 30, 30, 80, 90
REF:
069837siii

10
ANS:


120, 60, 90, 30, 60
REF:
089842siii

11
ANS:


50, 84, 48, 37, 95
REF:
019937siii

12
ANS:


120, 30, 30, 120, right because [image: image287.png]ms OB = 90




REF:
069939siii

13
ANS:


80, 150, 35, 90, 105
REF:
089937siii

14
ANS:


43, 94, 130, 47, 25
REF:
010036siii

15
ANS:


72, 54, 108, 19.8
REF:
010136siii

16
ANS:


110, 10, 50, 90, 40
REF:
060136siii

17
ANS:


40, 50, 80, 70, 30
REF:
080140siii

18
ANS:


40, 90, 40, 130, 100
REF:
010239siii

19
ANS:


80, 120, 20, 75, 70
REF:
060240siii

20
ANS:


60, 80, 10, 130, 50
REF:
080242siii

21
ANS:


80, 40, 20
REF:
010336siii

22
ANS:


140, 90, 60, 25, 95
REF:
060336siii

23
ANS:


74, 53, 67, 104, 90
REF:
080338siii
